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�! (�K10©) )µ-v(x, y) = ux, Kv + yvy = 0, )��v =
c1(x)

y
. . . . . . . . . . (5©)

�

u =

∫
vdx =

f(x)

y
+ g(y),

Ù¥f, g�?¿��¼ê. ��§�Ï)�u(x, y) =
f(x)

y
+ g(y). . . . . . . . . . . . . . (10©)

�! (�K10©) )µduu|t=0 = x§ut|t=0 = 2sinx 3(−∞,∞)þ�Û¼ê§�½)

¯K {
vtt = 9vxx (t > 0,−∞ < x <∞),

v|t=0 = x, vt|t=0 = 2sinx

�)3x > 0þ���=��½)¯K�). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (5©)

dd’Alembertúª�

v(t, x) =
1

2

(
(x+ 3t) + (x− 3t)

)
+

1

2 · 3

∫ x+3t

x−3t

2sinξdξ = x+
2

3
sinx sin3t. (8©)

��¯K�)�u(t, x) = x+ 2
3
sinx · sin3t(t > 0, x > 0). . . . . . . . . . . . . . . . . . . . (10©)

n! (�K20©) )µ1. ^©lCþ{§�u(t, x) = T (t)X(x)§��

T ′′(t)

T
=
X ′′(x)

X
= −λ.

�\àg>.^���k�¯K

{
X ′′ + λX = 0 (0 < x < π),

X(0) = 0, X ′(π) = 0
ÚT ′′+λT = 0. (4©)

dSturm-Liouville½n�k�ê��K�k�λn = ω2
n. �\)�ωn = n− 1

2
. �A

��k�Ú�k¼ê�λn = (n− 1
2
)2, Xn = sin(n− 1

2
)x. . . . . . . . . . . . . . . . . . . . . . (6©)

Ó�Tn(t) = Ancos(n− 1
2
)t+Bnsin(n− 1

2
)t. �

u(t, x) =
∑∞

n=1

(
Ancos(n− 1

2
)t+Bnsin(n− 1

2
)t
)

sin(n− 1
2
)x. . . . . . . . . . . . . (8©)

�\Ð©^�� 
∞∑
n=1

Ansin(n− 1
2
)x = sin3

2
x,

∞∑
n=1

Bn(n− 1
2
)sin(n− 1

2
)x = sin1

2
x.

1



*	´�An =

{
1, n = 2,

0, else,
Bn =

{
2, n = 1,

0, else.
. . . . . . . . . . . . . . . . . . . . . . . . . (10©)

�\Xê�àg½)¯K�)�

u(t, x) = 2sin
t

2
· sinx

2
+ cos

3

2
t · sin3

2
x. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (12©)

2. �f(t, x) = sinωt·sinx
2
�§dU\�n§½)¯K�)u(t, x)�±
¤u = v+w.

Ù¥v(t, x), w(t, x)©O´eã½)¯K�)µ

(1).


vtt = vxx (t > 0, 0 < x < π),

v|x=0, vx|x=π = 0,

v|t=0 = sin3
2
x, vt|t=0 = sinx

2
,

(2).


wtt = wxx + sinωt · sinx

2
(t > 0, 0 < x < π),

w|x=0, wx|x=π = 0,

w|t=0 = 0, wt|t=0 = 0.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (15©)

v�)®d11K�Ñ. �w(t, x) =
∞∑
n=1

Sn(t)sin(n− 1
2
)x, �\(2)�{

S ′′n = −(n− 1
2
)2Sn + Fn(t),

Sn(0) = 0, S ′n(0) = 0
, Ù¥Fn(t) =

{
sinwt, n = 1,

0, else.

)��S1 =
2ωsin t

2
− sinωt

ω2 − 1
4

, Sn = 0(n > 1). �

w(t, x) =
2ωsin t

2
− sinωt

ω2 − 1
4

· sinx
2
.

?
§�f(t, x) = sinωt · sinx
2
�§�½)¯K�)�µ

u(t, x) = 2sin
t

2
· sinx

2
+ cos

3

2
t · sin3

2
x+

2ωsin
t

2
− sinωt

ω2 − 1

4

· sinx
2
. . . . . . . . . . (18 ©)

3. �§�àg�f(t, x)�uÉ½�Ä¥�	å�Ý¼ê£�ρ�); àg>.^�

�Ôn¿Â´u�ÄL§¥u��à:�½!mà:3ç���gdwÄ¶Ð©^

��Ôn¿Â´u�Ð© £ÚÐ©�Ý. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (20©)

o! (�K15©)): � u = X(x)T (t), �\�
T ′

T
− 1 =

X ′′ +
1

x
X ′

X
= −λ. �\àg

>.^���k�¯K{
x2X ′′ + xX ′ + λx2X = 0 (0 < x < π),

X(0)k., X ′(1) = 0,

2



ÚT ′ = (1− λ)T . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (5©)

X(x)�k.)� X(x) = J0(ωx).�k�� 0, ω2
1, ω

2
2, · · · , ω2

n, · · · , (ωn�J1(x) =

0 ��), �k¼ê� 1, J0(ω1x), J0(ω2x), · · · , J0(ωnx) · · · . �\)�T (t) = e(1−ω2
n)t,

Ïd§?ê)

u(t, x) = c0e
t +

+∞∑
n=1

CnJ0(ωnx)e(1−ω2
n)t (∗) . . . . . . . . . . . . . . . . . . . . . . . . . . (10©)

�t = 0 �, ϕ(x) = c0 +
+∞∑
n=1

CnJ0(ωnx)§Ù¥

c0 = 2

∫ 1

0

ϕ(x)xdx, cn =
2

J2
0 (ωn)

∫ 1

0

ϕ(x)xJ0(ωnx)dx, n = 1, 2, · · · ,

�\ (∗) =�). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (15©)

Ê! (�K15©) ): *	��§A)�
1

6
z3 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (3©)

� w = u− 1

6
z3

3¥�IXe½)¯KC�

∆3w = 0, (r < 1)

w|r=1 = −1

6
cos3 θ.

. . . . . . . . . . . . . . . . . . . . . . (5©)

¥S¶é¡¯K�?ê)� w =
+∞∑
n=0

Cnr
nPn(cos θ). . . . . . . . . . . . . . . . . . . . . . . . .(8©)

� r = 1�, − 1

6
cos3 θ =

+∞∑
n=0

CnPn(cos θ) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (10©)

��C1 = − 1

10
, C3 = − 1

15
, Ù§�� 0 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (13©)

u = w − 1

6
z3 = − 1

10
z +

1

10
z(x2 + y2 + z2) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (15©)

8! (�K15©) ): 1.

∆2G = −δ(M −M0) (M,M0 ∈ Ω)

G |∂Ω= 0
. . . . . . . . . . . . . . . . . (3©)

M = (x, y), M0 = (ξ, η), M1 = (η, ξ)

G =
1

2π

(
ln

1

r(M,M0)
− ln

1

r(M,M1)

)
=

1

4π
ln

(x− η)2 + (y − ξ)2

(x− ξ)2 + (y − η)2
. . . . . . . . . . (8©)

3



2. «�Ω�	{�þ� n = (

√
2

2
,−
√

2

2
) . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (10©)

u(ξ, η) = −
∫
∂Ω

ϕ(x) · ∂G
∂n

∣∣∣
∂Ω
dl = −

∫ +∞

−∞
ϕ(x) ·

(∂G
∂x

√
2

2
− ∂G

∂y

√
2

2

)∣∣∣
∂Ω

√
2dx

=

∫ +∞

−∞
ϕ(x) ·

(∂G
∂y
− ∂G

∂x

)∣∣∣
∂Ω
dx

u(ξ, η) =
1

π

∫ +∞

−∞
ϕ(x) · η − ξ

(x− η)2 + (x− ξ)2
dx . . . . . . . . . . . . . . . . . . . . . . . . . .(15©)

Ô! (�K15©) )µ1. ¤¦Ä�)=�½)¯K{
Ut = 4Uxx + 3U, (−∞ < x <∞, t > 0),

U(0, x) = δ(x)

�). . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (3©)

-Ū = F [U ] =
∫∞
−∞ U(t, x)eiλxdx�U(t, x)'uC�x�FourierC�. K{

dŪ
dt

= −4λ2Ū + 3Ū

Ū(0, x) = 1

��Ū = e(−4λ2+3)t. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .(8©)

�

U = F−1[Ū ] =
1

2π

∫ ∞
−∞

e(−4λ2+3)te−iλxdλ =
1

4π
e−

1
16t

x2+3t

∫ ∞
−∞

e−λ
2

dλ

=
1

4
√
π

e−
1

16t
x2+3t

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (12©)

�½)¯K�)�

u(t, x) = U(t, x) ∗ φ(x) =

∫ ∞
−∞

ξ · 1

4
√
π

e3t · e−
1
16

(x−ξ)2dξ

=
1

4
√
π
· e3t ·

∫ ∞
−∞

(ξ − x) · e−
1
16
ξ2dξ

=
x√
π
· e3t ·

∫ ∞
−∞

eξ
2

dξ

= x · e3t

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (15©)
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